
 SS
DRIVES

INSTRUCTION SHEET D2-3177-1
Output ContactorKit

Model 1CN4020 (1-20 HP) and 1CN4050 (25-50 HP)
For use with 1-50 HP 230, 460 VAC and 575 VAC

GP2000/VTAC V A-C VxS® Drives

DESCRIPTION This kit can be used with all GP2000 and VTAC V
controllers in the range of 1-50 HP. Note that when

DANGER it is applied to the 1-20 HP GP2000 Stand-Alone

ONLY QUALIFIED ELECTRICAL PERSONNEL units, the components must be mountedin a sepa-
FAMILIAR WITH THE CONSTRUCTION AND rate, user-supplied cabinet. The componentsofthis

kit will fit within the GP2000 1-20 HP units when a
OPERATIONOF THIS EQUIPMENT AND THE ; re :

factory supplied Expanded Cabinetis provided, and
HAZARDSINVOLVED SHOULDINSTALL, AD- for all 25-50 HP GP2000 controllers and all 1-50 HP
JUST, OPERATE, AND/OR SERVICE THIS VTAC controllers
EQUIPMENT. READ AND UNDERSTANDTHIS ,
MANUALIN ITS ENTIRETY BEFORE PRO-
CEEDING. FAILURE TO OBSERVETHIS PRE-
CAUTION COULD RESULT IN SEVERE BODI-
LY INJURY OR LOSSOFLIFE.

 

   
The products described in this instruction manual
are manufactured and/or distributed by Reliance
Electric Industrial Company.

The Output ContactorKit providesa positive discon-
nect (contactor) between the output of the GP2000
orVTAC V controller and the drive motor. A controller
Start commandwill energize the contactor. A Stop
commandwill cause the contactorto drop out imme-
diately if the controller is configured for coast-to-rest
(Function 9 = 0); the contactor will drop out when
zero speedis reachedif the controller is configured
for ramp-to-rest (Function 9 = 1). An instantaneous
electronic trip (IET) will cause the contactor to drop
out immediately regardless of the Function 9 setting.

Note: The Output Contactor Kit requires the use of
the Remote Meter Interface Card (Model
number 1MI4000), whichis included with this
kit.

VxS®is a registered trademark of Reliance Electric Companyorits subsidiaries. ELECTRIC
© Copyright Reliance Electric Company, 1991.



RECEIVE AND ACCEPT THE SHIPMENT
Upon receiving, check the contents of the kit re-
ceived with the contents aslisted in Table 1. Store

this equipmentin a clean and dry area until ready to
use.

Table 1. Complete Parts List.
 

 

   

Description Quantity 1-20 HP 25-50 HP
Part Number Part Number

Contactor 1 705310-32A 705310-35A
Suppressor 1 611899-10R 611899-10R
Tape 1 417923-AF 417923-AF
M4 x 20 TTS 2 419062-100PGL 419062-100PGL
Transformer (50VA) 1 417155-SC 417155-SC
M5 x 10 TTS 4 419062-100PHG 419062-100PHG
M6 x 10 TTS 1 419062-100PJG 419062-100PJG
Fuse (1.0A) 2 64676-64D 64676-64D
Fuse (0.5A) 2 64676-64B 64676-64B
Fuse Block 1 49454-19B 49454-19B
M4 x 10 TTS 2 419062-100PGG 419062-100PGG
N/P (FU Replacement1A) 1 417114-77R 417114-77R
N/P (FU Replacement .5A) 1 417114-77B 417114-77B
Remote MeterInterface Card 1 M/N 1MI4000 M/N 1MI4000
Wire Harness (181 182) 1 708205-50S 708205-50S
Wire Harness (281A 282A) 1 708205-50R 708205-50R
Wire Harness (188 189 38) 1 803432-86R 803432-86R
Wire Harness (601B 602B 603B) 1 (1) 803432-76V (1) 803432-87RW
Wire Jumper (GND) 1 611899-53D 611899-53D
Wire Jumper(601B) 1 803432-76N 803432-87N
Wire Jumper(602B) 1 803432-76P 803432-87P
Wire Jumper (603B) 1 803432-76Q 803432-87Q
Mounting Bracket 1 708205-47A 708205-8A
M4 Nut/Washer 2 419063-201SG 419063-201SG
Ty-Rap 12 69306-3D 69306-3D
Wiring Diagram 1 803432-72 803432-72    

(1) Only used if overloadrelay is installed in controller and would replace jumpers 601B, 602B and 603B Wire Jumpers shownin
Table.

Reliance Electric’s terms of sale, in all instances,
are F.O.B. point of origin. The user is responsible for
thoroughly inspecting the equipment before accept-
ing shipmentfrom the transportation company.

If all the items called for on thebill of lading or on the
express receipt are not includedorif any items are
obviously damaged, do not accept the shipment un-
til the freight or express agent makesan appropriate
notation on yourfreightbill or express receipt.If any
concealed loss or damageis discoveredlater,notify
your freight or express agent within 15 daysof re-
Ceipt and request that he make an inspection of the
shipment. Keep the entire shipmentintactin its origi-
nal shipping container.

The useris responsible for making claim against the

Carrier for any shortage or damage occurringin tran-
sit. Claims for loss or damagein shipment must not
be deducted from the Reliance Electric invoice, nor
should payment of the invoice be withheld while
awaiting adjustment of such claimssince the Carrier
guarantees safe delivery.

File a Return Request

1. To return equipment, send a written request to
Reliance Electric within ten days of receipt.

2. Do not return equipment without a numbered
Equipment Return Authorization (ERA) from
Reliance Electric.

3. Reliance Electric reserves the right to inspect
the equipment onsite.

Store the Kit Until Installation

After receipt inspection, repackthekit in its original
shipping container until installation. If a period of
storage is expected, store in the original shipping
containerwith its internal packing.

To ensure satisfactory operation at startup and to
maintain warranty coverage, store the equipment:

e in its original shipping container in a clean,
dry, safe place.

e within an ambient temperature range of

-40°C (-40°F) to 65°C (149°F)

e within a relative humidity range of 5 to 95%
without condensation.

@ away from a highly corrosive atmosphere.In
harsh environments, cover the shipping/sto-
rage container.



INSTALLATION - STAND-ALONE
CONTROLLER(GP2000 1-20 HP)
WITHOUT EXPANDED CABINET
 

DANGER

DO NOT INSTALL MODIFICATIONKITS WITH
POWER APPLIED TO THE UNIT. DISCON-
NECT AND LOCK OUT INCOMING POWER
BEFORE ATTEMPTING SUCH INSTALLA-
TION. FAILURE TO OBSERVE THIS PRECAU-
TION COULD RESULT IN SEVERE BODILY
INJURY OR LOSSOFLIFE.
 

 

DANGER

THE USER IS RESPONSIBLE FOR CON-
FORMING TO THE NATIONAL ELECTRICAL
CODEANDALL OTHER APPLICABLE LOCAL
CODES. WIRING PRACTICES, ENCLO-
SURES, GROUNDING, DISCONNECTS, AND
OVERCURRENTPROTECTION AREOF PAR-
TICULAR IMPORTANCE. FAILURE TO OB-
SERVE THESE PRECAUTIONS COULD RE-

Mount the contactor, transformer, and fuse block

in a user-supplied enclosure that meets ail
applicable codes. (Refer to Figure 1.)

a. Disconnectall powerto the controller before
installing this kit.

b. Mount the contactor: In the selected mount-
ing location, drill two holes as detailed in
Figure 1. Mount the contactorwith the two (2)
M4 x 20 TTS screwsprovided.

c. Mount the transformer: In the selected
mounting location, drill four holes as de-
tailed in Figure 1. Mount the Transformerwith
the four (4) M5 x 10 TTS screwsprovided.

d. Mount the fuse block: In the selected mount-
ing location, drill two holes as detailed in
Figure 1. Mount the fuse block with the two
(2) M4 x 10 TTS screwsprovided.

e. Mount the replacement fuse nameplate for
fuses 6FU and 7FU on the top of the fuse
block. Select the 1.0 amp nameplate for
230-volt operation; select the 0.5 amp name-
plate for 460/575-volt operation.

SULT IN SEVERE BODILY INJURY OR LOSS    OF LIFE. CAUTION

COMPLETE ALL DRILLING, CUTTING,

Note: The wire harnesses providedin this kit are WELDING, ETC., BEFORE MOUNTING THE
COMPONENTS. DURING INSTALLATION,
PROTECTTHE COMPONENTS FROM METAL
CHIPS, WELD SPLATTERS AND OTHER DE-
BRIS. FAILURE TO OBSERVETHIS PRECAU-
TION COULD RESULT IN DAMAGETO, OR
DESTRUCTION OF, THE EQUIPMENT.

designed for use with the Expanded Cabinet
and may not be usable with the stand-alone
controller. Before finalizing the component
mounting location, the user should study the
instructions given in paragraphs 3, 5, and 7
to determine the applicability of the wiring
harnessto the specific installation.   
 

CONTACTOR TRANSFORMER FUSE BLOCK

N
Y
Y

 

0.765
.142. DIA.

| (2) PLACES
—-2.362 Lee 1,968 261 |

ram — L |
J

A C00 —.

.180 DIA.
(4) PLACES —SP--

213 DIA.a 1.00 J
(1) PLACE
MOUNTING HOLE
FOR GROUND SCREW

   YQ.142 DIA.
(2) PLACES     

Figure 1. Contactor, Transformer, and Fuse Block Mounting Hole Dimensions.

3



2. Install the Remote MeterInterface Card. the fuse block to terminal H1 of the trans-

a. Remove the controller cover and set aside former. Connect terminal 282A of the fuse
block to the transformer accordingto the re-

for reassembly. : .
quired operating voltage as follows:

b. Install the Remote MeterInterface Card ac- For 230-volt ti tf block
cording to the wiring diagramsandinstruc- 382At a Gomme2 connect tse bloc
tions in Instruction Manual D2-3168. 0 Wansrormer Me,

3. Connect the fuse block. (Refer to Figure 2 and pepAooneeae connect fuse block
to the connection diagram on the transformer ‘
nameplate.) For 575-volt operation, connect fuse block

a. Using wire harness 708205-50S (or user- 282Ato transformer H4.
supplied wiring), connect terminal 181 of the
fuse block to terminal R1 on the controller

terminal board. Connect terminal 182 on the

. Using jumper wire 611899-53D, connect
transformer terminal X3 (189) to a suitable
equipment ground. See Figure 2.

fuse block to terminal $1 onthe controllerter- 4.‘ Select andinstall the appropriate fuses 6FU and
minal board. 7FU according to operating voltage as detailed

 

 

     
  

 

b. Using wire harness 708205-50R (or user- in Table 2.
supplied wiring), connect terminal 281A of

CONNECT TO TERM. R1t & S1
(1-20HP STAND-ALONE AND 25—SCHP GP2000

LOCATED ON CONTROLLER).
(VIAC V OR 1-20HP GP2000 WITH EXPANDED CABINET

LOCATED ON TERM. BD. IN CABINET)

[ (R1) (s1) | 1-20HP GP2000
1 > STAND-ALONE CONTROLLER:

181 182 “}T, TO MOTOR LEADS OR
OVERLOAD TOP TERMINALS

6Fu<a > 7Fu METER INTERFACE PC BD TO U(601), (IF USED)

BIA 282A puuccen (et oeATOR BD vee)a|. | 1-20HP GP2000 WITH EXPANDED CABINET,

Benen) omen Senne
CONNECT PER N/P 132333435563713839 40141     BOARD OR OVERLOAD TOP

1B rea|—o | TERMINALS (IF USED)

38 189,

SUPP

 

   

 

 

1> VALUE OF FUSES (6FU & 7FU) ARE AS FOLLOWS:
1.0 AMP (230 V); 0.5 AMP (460/575 V).    
Figure 2. Output Contactor Kit Wiring Diagram - GP2000, Expanded Cabinet,

and VTAC V Controllers.



 

 

SUPRESSOR
CONTACTOR TAPE |

 

 

      
 

     
 

 

       

FRONT VIEW

TAPENees "AL?

SUPRESSOR—&

CONTACTORN

TO COIL

 

 

|4   

L
j
j
J

 No=A

 

 

       
TO COIL

CONNECTION °A2’

RIGHT SIDE VIEW   
Figure 3. Supressor Location on Contactor.

Table 2. Transformer Input Protection
Fuse Selection.
 

 

 

    

Operating Voltage Fuse

230 Volts 1.0 amp

460/575 Volts 0.5 amp

5. Connect the transformer to the Remote MeterIn-

terface Card and contactorcoil. (Refer to Figure
2.)

a. Using wire harness 803432-86R (or user-
supplied wiring), connect transformertermi-
nal X1 (188) to terminal 37 (188) on the Re-
mote Meter Interface Card. Connect
transformer terminal X3 (189) to contactor
coil connection A2 (189). Connect terminal
38 on the Remote MeterInterface Card to
contactor coil connection A1 (38).

Install the suppressor (part 611899-10R) in the
top right corner of the contactor using the tape
provided (part 417923-AF) as shownin Figure 3.
Connect the two suppressorleads to contactor
coil connections A1 and A2 according to Figure
2.

Connectthe output contactor. (Refer to Figure
2.)

a. Using wire harness 803432-76V (or user-
supplied wiring), connect contactor termi-
nals L1, L2, and L3 to controller output termi-

nals U, V, and W,respectively.

b. Ifthe optional Motor Overload Kit is not used,
connect the motor leads to contactor termi-

nals T1, T2, and T3.

c. If the Motor Overload Kit is used, use wire

jumpers 803432-76N, 803432-76P and

8.

9.

803432-76Q, to connect overload top termi-
nals 601, 602, and 603 to terminals T1, T2,
and T3, respectively, of the contactor. Con-
nect the motor leads to overload bottom ter-
minals 601A, 602A, and 603A.Refer to Motor
Overload Instruction Manual D2-3222 for ap-
propriate wiring diagrams and instructions.

Replace the controller cover.

Turn power ON.
 

WARNING

THE RAMP-TO-REST FUNCTION REQUIRES
PROPER OPERATION OF REGULATOR
ELECTRONICS. WHEN THE RAMP-TO-REST
STOP FUNCTION IS USED, A COAST-STOP
PUSHBUTTON IS REQUIRED. THE COAST-
STOP PUSHBUTTON DISABLES THE REGU-
LATOR AND ALLOWS THE MOTOR TO
COAST-TO-REST. FAILURE TO OBSERVE
THIS PRECAUTION COULD RESULTIN BODI- LY INJURY.   

10.

11.

12.

Select parameter 28. Change the parameterset-
ting to “3.” Push the MONITORkeyto store the
selection in memory.

Press the STARTkeyto start the drive. The drive
should run at the keypad display speed setting.

Press the STOPkey. The contactor should drop
out after STOP is pressed.If controller parame-
ter 9 is in the “ramp-to-rest” mode, the contactor
will not drop out until the motor reaches zero
speed.



INSTALLATION - 1-20 HP GP2000
WITH EXPANDED CABINET,
25-50 HP GP2000, OR VTAC V
1-50 HP CONTROLLERS
 

DANGER

DO NOT INSTALL MODIFICATIONKITS WITH
POWER APPLIED TO THE UNIT. DISCON-
NECT AND LOCK OUT INCOMING POWER
BEFORE ATTEMPTING SUCH INSTALLA-
TION. FAILURE TO OBSERVETHIS PRECAU-

TION COULD RESULT IN SEVERE BODILY
INJURY OR LOSSOFLIFE.
 

 

DANGER

THE USER IS RESPONSIBLE FOR CON-
FORMING TO THE NATIONAL ELECTRICAL
CODEANDALL OTHER APPLICABLE LOCAL
CODES. WIRING PRACTICES, ENCLO-
SURES, GROUNDING, DISCONNECTS, AND
OVERCURRENTPROTECTION AREOF PAR-
TICULAR IMPORTANCE. FAILURE TO OB-
SERVE THESE PRECAUTIONS COULD RE-
SULT IN SEVERE BODILY INJURY OR LOSS
OF LIFE.   

1. Mountthe contactor, transformer, and fuse block

as shown in the appropriate Figure 4 or
Figure 5.

a. Disconnect all powerto the controller before
installing this kit.

b. Remove the controller cover and set aside

for reassembly.

c. Mount the contactor: Two mounting holes
are providedin the kit tray compartment for

mounting the 705310-32A (705310-35A for
25-50 HP) contactor. Mount the contactor to
the bracket using the two (2) M4 x 20 TTS
screwsprovided.

d. Mount the transformer: Refer to Figure 4 for
1-20 HP (or to Figure 5 for 25-50 HP) for
mounting location. Mount the transformer
with the four (4) M5 x 10 TTS screws pro-
vided.

e. Mountthe fuse block:Install mounting brack-
et 708205-47A (708205-8A for 25-50 HP) to
the three studsonthe side of the kit mounting
channelusingthe three (3) M4 nuts provided.
Refer to Figure 4 or Figure 5 for mounting lo-
cation. Mount the fuse block with the two (2)
M4 x 10 TTS screwsprovided. Mountthe re-
placement fuse nameplateforfuses 6FU and
7FU beside the fuse block. Select the 1.0
amp nameplate for 230-volt operation; se-
lect the 0.5 amp nameplate for 460/575-volt
operation.

install the Remote Meter Interface Card.

a. Removethe controller cover and set aside

for reassembly.

b. Install the Remote MeterInterface Card ac-
cording to the wiring diagrams andinstruc-
tions given in Instruction Manual D2-3168.

Follow the wiring diagrams andinstructions in
the applicable controller instruction Manual
D2-3166 (GP2000, 1-20 HP), D2-3182 (GP2000
25-40 HP), D2-3167 (VTAC V, 1-50 HP), and/or
any appropriate kit instruction manuals(if other
kits are installed) for all wires except those wires
detailed in this instruction manual.



 

 

 

 

 

 
 

 

 
 

 

 

 

       
 

  

 

    

 

 

 

 

 

  
 

 

 
  
 

 

 
 

 

   

 

  

 

 

 

 

   
  

  

  

         

       

 
 
 

 

 

> Ay |_-srouna
TERMINAL

t> WIRES 38 & 188 ARE TO BE ROUTED THRU HOLE !
LOCATED CLOSEST TO TOP OF BY-PASS SIDE PNL. TI . °

2> WIRES 601 THRU 603 ARE TO BE ROUTED THRU HOLE Oo | 2eEA
LOCATED CLOSEST TO BOTTOM OF BY-PASS SIDE PNL. a aeUNNeTFER 6

3> SEE INSTRUCTION MANUAL <I/M) FOR THE eauA Se aeWP
REPROGRAMMING OF PARAMETERS. & io .

4>HARNESS OF LEADS 601, 602 & 603 ARE SUPPLIED <= ° rere =
WITH DRIVE, NOT INCLUDED WITH KIT. ° = PY

=e ww LL-dL-TRANSFORMER

° q MOUNTING HOLE ¢4>
GROUND JUMPER 611899-53D || Le a

TO CONTROLLER ~} HARNESS 803432-86R

AT Lo INTERFACE CARD

°

OUTPUT r oN.
¥ CONTACTOR o( eo
REGULATOR BOARD LOCATED $ °

BENEATH J
COAST STOP ae

METER [i “ACE PC BD. a

a| PUSHBUTTON? HARNESS 708205-5S0R
at i

l % FUSE BLOCK
FUSE _ MOUNTING HOLE ¢2)

, NAMEPLATE (OL aR ruse Block

watVuesVici | a a: 803432-76N
3 5 1 ba 803432-76P

3 ° el nH 803432-76Q

= =, To overshap RELAY
ho <F USED

, HARNESS 708205-50S
—s1/2 Io 6 6 TO Ri, Sit ON T/B

LEE Oe HARNESS 803432-76V
od ad bd fs : lol “4 #8 TO U4, V’, W’, ON T/B

CUM
Gn ° Ly P sree eeL S we |SEE FIG 5

oll Ge EXvBet Tol] FOR DETAIL
rom EN aseaes

Oo    
 

   

 

Figure 4. Contactor, Transformer, and Fuse Block Mounting Locations - 1-20 HP GP2000 with
Expanded Cabinet or 1-20 HP VTACV.

7

 



 

 

DETALL ‘A!

 

GROUND JUMPER
611899-53D TO

CONTROLLER GROUND
TERMINAL \

HP CONTACTOR25 THRU Si

803432-86R
HARNESS

CONTACTOR

M4 X 20 TTS

    

C
L
H
M
O
G
B
I

803432-86R
HARNESS

\ 

 

REGULATOR BOARD

SEE NOTE 2
 

METER INTERFACE PC BD.
TB3 (RMI-001)

 Bibgss34p5peb7585e4041]   
gL|

 

< G
GROUND

TERMINAL

 

 

 Ww o ib 
 

<
2

31
0N

33
8

° 
M4 NUT/WASHER

    

   -\
NOTES:

1> WIRES 38 & 188 ARE TO BE ROUTED THROUGH
HOLE LOCATED IN BY-PASS SIDE PANEL

e> SEE INSTRUCTION MANUAL ¢I/M> FOR THE
REPROGRAMMING OF PARAMETERS,

3>

4>

HARNESS OF LEADS 601, 602 & 603 ARE SUPPLIED
WITH DRIVE. NOT INCLUDED WITH KIT.

IF OVERLOAD RELAY IS INSTALLED, HARNESSES
803432-87N, 803432-87P & 803432-87@ WILL
REPLACE HARNESS 803432-87RW,

C
E
O
D
A
K
2
0
9
A
(
T
O
I

@
O
4
A
,

W
O
8
d

@
o

 
  

 

281A SEE CONN, N/P

262A
CONNECT PER

DRIVE VOLTAGE

cee
 

  

 

  

 

   
    

 

Df

al

 
1 TRANSFORMER

~MS X 10 TTS

PS HARNESS 803432-86R
TO REMOTE INTERFACE
CARD

SEE NOTE 3  
 

  
 

™ HARNESS 708205-S0R 
0.54 DR 1A FUSE

IS M4 X 10 TTS
 

 

   
 

 

 

 

  

               
 

   

OHS FUSE BLOCK

IHARNESS 708205-50S

T~803432-87RW HARNESS
TO U’, Vv’, AND W’ ON
T/B

SEE FIGURE 6
dil-——"_ FOR DETAIL

 

| rae

oS[]] aa
| | a

I * ,

FUSE__|_| |_1
NAMPLATE ‘a

° = 5
g

HARNESS| age & 8 8
803432-86R lm Sous

nae ae
° agr oa @ rt

° 353 8 BE
a© of &,

TO OVERLOAD RELAY i
bon (IF USED)

SEE NOTE
o4 0

g
eee c

|
ti { TE ee Ait

or prog tree bela
AC OUTPUTAG INPUTL

c 60°C JUSE 60°
wire {CU WIRE

ror TORQUE.

SEE NOTE 1>U} © 4

° A     
 

A
r
y
’     
 

Figure 5. Contactor, Transformer, and Fuse Block Mounting Locations - 25-50 HP GP2000
and VTAC V Controllers.

8

 



4. Connect the fuse block. (Refer to Figure 2 and
to the connection diagram on the transformer
nameplate.)

a. Using wire harness 708205-50S, connectter-
minal 181 of the fuse block to terminal R1 on

the terminal block. Connect terminal 182 on

the fuse block to terminal S1 on the terminal

block. Refer to Figure 6 and to Figure 2 for
connection locations.

b. Using wire harness 708205-50R, connect
terminal 281A of the fuse block to terminal H1
of the transformer. Connect terminal 282A of
the fuse block to the transformer according
to the required operating voltage as follows:

For 230-volt operation, connect fuse block
282A to transformer H2.

For 460-volt operation, connect fuse block
282A to transformer H3.

For 575-volt operation, connect fuse block
282Ato transformer H4.

c. Using jumper wire 611899-53D, connect
transformer terminal X3 (189) to the ground
terminal locatedatthe top of the cabinet. Re-
fer to Figure 4 or Figure 5 and to Figure 2 for
the ground terminal location.

 

LJ’ \V’ \W R’ S/ T/

 

 

 

 

TOO
 

C) C)
 + Z >. ZL O
 — — —"

 
  

 

    
L’ \V/ \W FR ’ Ss! 7’

 

TO TERMINALS
181, 182 ON
FUSE BLOCK

HARNESS
ZO 708205-50S

18e

181  
 

Figure 6. R1, $1 Terminal Block Wiring Locations.

5. Select and install the appropriate fuses 6FU and
7FU according to operating voltage as detailed
in Table 2.

Connectthe transformerto the Remote MeterIn-
terface Card and contactorcoil. (Refer to Figure
2 andto Figure 4 or Figure 5 for wiring detail and
routing.)

a. Using wire harness 803432-86R, connect
transformerterminal X1 (188) to terminal 37
(188) on the Remote Meter Interface Card.

7.

Connect transformer terminal X3 (189) to
contactorcoil connection A2 (189). Connect
terminal 38 on the Remote Meter Interface
Card to contactor coil connection A1 (38).

Install the suppressor (part 611899-10R) in the
top right corner of the contactor using the tape

provided (part 417923-AF) as shownin Figure 3.
Connect the two suppressorleads to contactor
coil connections A1 and A2 according to
Figure 2.



8. Connect the output contactor (1-20 HP GP2000
with Expanded Cabinet or 25-50 HP GP2000 or
VTACV controllers without optional Motor Over-
load Kit).

Connect controller output terminals U, V, andW
to contactor top terminals L1, L2, and L3,re-
spectively, using existing harness labeled 601,
602, 603. See the applicable instruction manual
for wiring detail. See Figure 4 or Figure 5 for rout-
ing note.

Using wire harness 803432-76V (803432-87RW
for 25-50 HP), connect contactor bottom termi-
nals T1, T2, and T3 to the top of output terminals

U’, V’ and W’, respectively, on the controller ter-

minal block. Refer to Figure 4 or Figure 5.

c. Connect the motor leadsto the bottom of output
terminals U’, V’ and W’ on the terminal block.

For 1-20 HP GP2000 with Expanded Cabinet, all
VTAC V or 25-50 HP GP2000 controllers with option-
al Motor Overload Kit:

a. Connect controller output terminals U, V, and W
to contactor top terminals L1, L2, and L3,re-
spectively, using existing harness labeled 601,
602, 603. See the applicable instruction manual
for wiring detail. See Figure 4 or Figure 5 for rout-
ing note.

b. Using wire jumpers 803432-76N (803432-87N
for 25-50 HP), 803432-76P (803432-87P for
25-50 HP), and 803432-76Q (803432-87Q for
25-50 HP), connect contactor bottom terminals
T1, T2, and T3 to overload top terminals 601,

602, and 603, respectively, on the overload

block. Refer to Figure 4 or Figure 5.

c. Using wire harness 803432-76V (803432-87RW
for 25-50 HP), connect overload bottom termi-
nals 601A, 602A, and 603A,to the top of output
terminals U’, V’, and W’, respectively, on the

controller terminal block. Refer to Figure 4 or
Figure 5.

Also refer to Motor Overload Kit Instruction Man-

ual D2-3222 for appropriate wiring diagrams
and instructions.

d. Connectthe motor leadsto the bottom of output
terminals U’, V’ and W’ on the terminal block.

10

9. Replace the controller cover.

10. Turn power ON.
 

WARNING

THE RAMP-TO-REST FUNCTION REQUIRES
PROPER OPERATION OF REGULATOR
ELECTRONICS. WHEN THE RAMP-TO-REST
STOP FUNCTION IS USED, A COAST-STOP
PUSHBUTTON IS REQUIRED. THE COAST-
STOP PUSHBUTTON DISABLES THE REGU-
LATOR AND ALLOWS THE MOTOR TO
COAST-TO-REST. FAILURE TO OBSERVE
THIS PRECAUTION COULD RESULTIN BODI- LY INJURY.   

11.

12.

13.

Select parameter 28. Change the parameterset-
ting to “3.” Push the MONITORkeyto store the
selection in memory.

Press the START keyto start the drive. The drive
should run at the keypad display speed setting.

Press the STOP key. The contactor should drop
out after STOP is pressed.If controller parame-
ter 9 is in the “ramp-to-rest” mode,the contactor
will not drop out until the motor reaches zero
speed.





Reliance Electric / 24701 Euclid Avenue / Cleveland, Ohio 44117 / (216) 266-7000

PELIANCE7
ELECTRIC @l/

Printed in U.S.A. D2-3177-1 1091


